K P MAS (WORLD OF INTELLIGENCE)
SAMPLE PAPER - 1
LEVEL - 2A ( VEDIC)

SOLVE THE FOLLOWING

1(47 + 68 =

349 + 74 =

435 + 846 =

7439 + 256 =

8235 + 5445 =

Duplex Of 515 =

2
3
4
5|3534 + 128 =
6
!
8

Duplex Of 673 =

9|Duplex Of 63 =

10|Duplex Of 694 =

11|Duplex Of 123 =

12|Square Of 25 =

13|Square Of 55 =

14|Square Of 32 =

15|Square Of 94 =

16(9 + 4-8 =

17|8-0=

18|7 -3 -6 =

19|Complement Of 263 =

20{10000 - 2961 =

21|38 x6 =

22|434 X7 =

238435 x 8 =

2416544 x 3 =

25765 X 4 =




K P MAS (WORLD OF INTELLIGENCE)
SAMPLE PAPER - 2
LEVEL - 2A ( VEDIC)

SOLVE THE FOLLOWING

1/659 + 42 =

/3 +84 =

342 + 421 =

5598 + 6474 =

6459 + 2306 =

Duplex Of 408 =

2
3
4
5/6598 + 8575 =
6
!
8

Duplex Of 65 =

9(Duplex Of 106

10|Duplex Of 345 =

11|Duplex Of 145 =

12|Square Of 45 =

13|Square Of 15 =

14|Square Of 84 =

15|Square Of 62 =

16{10-8 -4 =

17(7+9-6 =

18(5+5-5-5=

19|Complement Of 526 =

20|Workinng Base of 2061 =

21|87 x3 =

221213 X6 =

23146 X 9 =

2412694 x 2 =

25|4745 x 4 =




K P MAS (WORLD OF INTELLIGENCE)
SAMPLE PAPER - 3
LEVEL - 2A ( VEDIC)

SOLVE THE FOLLOWING

16847 + 7428 =

5344 + 742 =

349 + 857 =

82 +48 =

6532 + 42 =

Duplex Of 65 =

2
3
4
5(991 + 94 =
6
!
8

Duplex Of 367 =

9(Duplex Of 300 =

10|Duplex Of 687 =

11|Duplex Of 699 =

12|Square Of 75 =

13|Square Of 35 =

14|Square Of 26 =

15|Square Of 44 =

169 +2-2+4 =

17[7+3-3+8=

18[6-7+4-2=

19|Complement Of 3462 =

20|Working Base of 473 =

21|83 x4 =

221646 X5 =

23|839 x 3 =

2413685X 3=

25|9631x9=




K P MAS (WORLD OF INTELLIGENCE)
SAMPLE PAPER - 4
LEVEL - 2A ( VEDIC)

SOLVE THE FOLLOWING

178 + 89 =

557 + 86 =

815 + 426 =

9805 + 286 =

8738 + 28 =

Duplex Of 74 =

2
3
4
516144 + 6494 =
6
!
8

Duplex Of 684 =

9(Duplex Of 420 =

10|Duplex Of 475 =

11|Duplex Of 794 =

12|Square Of 95 =

13|Square Of 65 =

14|Square Of 81 =

15|Square Of 24 =

16(2 -9+ 8 =

17[14 + 10 - 4=

18|3+6-8-2=

19|Complement Of 2469 =

20|Working base of 20001 =

21|46 x 4 =

221656 X 7 =

23554 X5 =

2415482 x 5 =

256565 X 7 =




K P MAS (WORLD OF INTELLIGENCE)
STATE LEVEL CHAMPIONSHIP
LEVEL - 2A ( VEDIC)

SOLVE THE FOLLOWING

47 + 68 =

349 + 74 =

435 + 846 =

7439 + 256 =

8235 + 5445 =

Duplex Of 74 =

1
2
3
4
5|3534 + 128 =
6
!
8

Duplex Of 684 =

9(Duplex Of 420 =

10|Duplex Of 475 =

11|Duplex Of 794 =

12|Square Of 95 =

13|Square Of 65 =

14|Square Of 81 =

15|Square Of 24 =

16(2 -9+ 8 =

17[14 + 10 - 4=

18|3+6-8-2=

19|Complement Of 2469 =

20|Working base of 20001 =

2146 X 6 =

22|656 X 8 =

23554 X 3 =

245482 X [ =

256565 X 6 =




B:) SOLVE 2M
a) 4378 + 6538 =
b) 6752 + 947 =
6M
44 13 40
X46 X95 X36
3M
C.Cof59 & 28 C.Cof422 & 231 C.Cof 420 & 261

3M

Compliment of 6746

Compliment of 983 Compliment of 763

2M

50 % of 28

20% Of 80 25% of 72

4M

Square of 366

Square of 575

3M

Duplex Of 97

Duplex Of 46 Duplex Of 63




B:) SOLVE 2M
a) 8654 + 6538 =
b) 6787 +947 =
6M
64 76 14
X66 x44 X36
3M
C.Cof 28 & 40 C . C of 559 &364 C.Cof 298 & 479

3M

Compliment of 874

Compliment of 374

Compliment of 878

2M

50 % of 56

20% 0Of 45

25% of 100

4M

Square of 477

Square of 685

3M

Duplex Of 54

Duplex Of 82

Duplex Of 54




B-Solveifa=2,b=3,c=4 2M
a) 2b+c-a=
b) 4da+2b-c=
6M
74 44 32
X716 X716 x94
3M
C.Cof38&49 C.Cof 326 & 291 C.Cof 249 & 361

3M

Compliment of 764

Compliment of 654

Compliment of 381

2M
50 % of 46 20% Of 95 25% of 84
4M
Square of 588 Square of 795
3M
Duplex Of 63 Duplex Of 78 Duplex Of 82




B-Solveifa=2,b=3,c=4 2M
a) 2c+2ab=
b) 2b+2c-2a-=
6M
54 87 21
X56 X65 x42
3M
C.Cof 69 & 84 C . C of 486 &889 C.C of 924 & 667

3M

Compliment of 896

Compliment of 824

Compliment of 746

2M
50 % of 100 20% Of 65 25% of 40
4M
Square of 699 Square of 405
3M
Duplex Of 43 Duplex Of 21 Duplex Of 63




B-Solveifa=1,b=2,c=8 2M
a) 2c+2ab=
b) 2b+2c-2a-=
6M
36 87 21
X34 X65 x42
3M
C.Cof59 & 28 C.Cof422 & 231 C.Cof 420 & 261

3M

Compliment of 896

Compliment of 824

Compliment of 746

2M
50 % of 100 20% Of 65 25% of 40
4M
Square of 928 Square of 408
3M
Duplex Of 68 Duplex Of 78 Duplex Of 45
















